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J=2x (%1.82) x(2.7% +8.1> +13.5%) =1296 cm”

f = R __33000 1587 kg / cm?
2nA  2x6x2.54
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0.66Ft, 0.66% 2400 0.8

N=179<k=3.07 = N=3.07cm

e ol (S99 (2 J S el Gl g ool Jeb J yS

R < 285t ) [1+3—N(t )L /

12000 < 285(0.8)?[L+ :;N LT \/ 240(()) x81.27
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Fy = 2400kg / cm® Fu = 4000kg / cm?

INP400 d=40cm k=385cm tw=144cm tf =2.16cm

55000 QO 90 5 (gl

> —2.5%x3.85=144
0.66 x2400x1.44

55000 < 285(1.44)[L+— (
40 “2.16 1.44

— N >13.5cm

3N 1.44)1_5] \/2400><2.16



N =14.5cm

bs=N+1.2=15.7 — bs =16cm

es=hbs—N/2=8.75cm
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t, 2 R = 2000 =1.72cm
0.9F, (b, -1.2) 0.9x2400(16-1.2)
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* 0.9Fb; 0.9%2400x16°
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b,t, >35.42cm? = b, =15cm =t, = 2.4cm

PR LI el o (Pl sl 0y Shex bx Job wlul p 355 Job
8 Mm s b 6 Koy

2L, x0.707x0.8x0.3x4200x0.75> 51000
= L, =47.71cm = use L, =48cm
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9 (oo w83 S350 iy By 12 CM Sl 555 e
bet, >35.42cm” = b, = 20cm = t, =1.8cm

S Ke> 28 L wed oo (b L 850 g b Jsb elal p 5,9 Jsb
8 mm o b

2L, x0.707x0.8x0.3x4200x0.75> 51000
= Ly =47.71cm = use L, =48cm
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X = 2 =4.32¢cm
2x16.5+30

f'l) 30cm
V =R/2=11000kg

T =11000(18—-4.32) =150480kg.cm

> A=2x16.5+30=63cm’
4.32cm

3
J=1,+1, =2x66.5x15’ +%+§(4.3z3 +12.18%) +30x 4.322 =11493cm*
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f
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f,, = R/2_ 11000 =174.6kg /cm?
Ay, 63 f o+ 1,

f. =./(196.4)? + (159.5+174.6) =387.6kg / cm’

L__ 3816
° " 0.3x0.75x 4200

0.41 = a= t =0.58
0.707

— use a=6mm




